

Proof of $\|w_+\|_2^2 = \sum_{i=1}^n \lambda_i^2 z_0(i)^2$

~~~~~

$$\|z_+(i)\|^2 = \langle u_i, w_+ \rangle \quad (\text{ベクトル})$$

z\_+(i) は z\_+ の i 成分

$$z_+ = \begin{pmatrix} z_+(1) \\ \vdots \\ z_+(p) \end{pmatrix} \quad p \times 1$$

7.7)

$$\|z_+\|_2^2 = \|U^T w_+\|_2^2$$

$$= w_+^T (U^T U)^T w_+$$

$$= \|w_+\|_2^2$$

$$= \begin{pmatrix} u_1^T \\ \vdots \\ u_p^T \end{pmatrix} (w_+) \quad p \times p$$

$$= U^T w_+$$

$$z_+(i) = \lambda_i^+ z_0(i)$$

5)

$$\|z_+\|_2^2 = \sum_{i=1}^n (z_+(i))^2 = \sum_{i=1}^n \lambda_i^2 z_0(i)^2$$